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Question Number : 1 Question Id : 64041116481 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Let [x] represent the greatest integer less than or equal to x. {x} = x — [x].

f x|
J2=1414and J3=1.732.1f f(x) = 1}”{? .} is a real valued function,

then f[ﬁ) + f[_\/ﬁ):

[X] @38 X & oS Dend KORS KBR Pdons, {x} =x —[x], 2= 1414

s £(43) + ()
Options :
0.682

Question Number : 2 Question Id : 64041116482 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If the range of the function f(x) =—-3x — 3 1s {3, —6, -9, —18}, then which one
of the following is not in the domain of £?
ahcho f(x) =—-3x -3 o) aghy {3, -6, -9, 18} wond, Bob avt3esd f cooefy
155d0es® 8508

Options :
-1
1. ¢
—2



Question Number : 3 Question Id : 64041116483 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3+ £ . +...t0o 24 terms =

=l E + ... 24 Soced =

Question Number : 4 Question Id : 64041116484 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If B is the inverse of a third order matrix A and det B =k. then (adj (adj A))™' =
35 S518 Hr@8 A Do) &%05n B 508050 det B =k wowns, (adj (adj A)) =

Options :

- kB



—_B
2. %

kB!
3. %
L % B +kI

Question Number : 5 Question Id : 64041116485 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

2 X 1
IfA= i Ieaala and o.p.y are the roots of the equation represented by
£ 22 |

|A—XI| =0. then = +53+T3 =

(]
[

r o . 2 —= s ) L
50630 o.by en :—‘L—ﬂ|={} 2 Srdodat HnEtmo @)

[a— —
| S T T
[ T T T

ot o i 7 i
oTJRETRED EODE@, a-—l_B-_‘_T- ==

Options :

-q
1. ® e

4.7 27

Question Number : 6 Question Id : 64041116486 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



If the values of x. v and z which satisfy the equations 2x — 3y + 2z + 15 =0,
3x +y—-z+2=0and x - 3y -3z + 8 = 0 simultaneously are «, p and y
respectively. then
2Xx —3y+2z+15=0,3x+y—-z+2=058c0 Xx—-3y—-32+8=0 o3
5&o8seredh DEsreodt é&%ﬁﬁfn X, V., Z Denden Hdme o, P, ¥ wond, TP

Options :

| x Btr=0

a+p=2y
2. % P '

20+ B =y
3.9

L 2BHY=20

Question Number : 7 Question Id : 64041116487 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ifx=3-2./3i, then x*-12x%+54x? -108x - 54=

o g
x=3-2./3i owd, x*-12x7 +54x% -108x - 54=
Options :
1. # 0

Question Number : 8 Question Id : 64041116488 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



z,, Z,, z, represent the vertices A, B, C of a triangle ABC respectively in the

Argand plane. If |21 _22|:“"25_12\/§ )

the area (in sq. units) of that traingle is
Zis Zy 280 @gog eroes? 2.8 (@abaso ABC 30085y, %ogl@a A, B, C o &85

SrOFow. |77 - 75|=4/25-124/3 ,

|8ghes Fameago (i cSfIeges)

£ —Z3

3
Zy—173 i and |ACB =30°, then

3

:Z foBosn |[ACB =30° wond, e

1 — 23

Z9—23

Options :
3

| a

Question Number : 9 Question Id : 64041116489 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The product of the four values of the complex number (1 +1)** is
EZOEQ Sogyg (1 + 1) GBws) mrenth Dende @) ©80

Options :

x 2(1F)

5 2 (1)

2% (1+)

3. %



Question Number : 10 Question Id : 64041116490 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the difference of the roots of the equation x* — 7x + 10 = 0 is same as the
difference of the roots of the equation x? — 17x + k =0, then a divisor of k is

2 — Tx+ 10 =0 5dmo gy Barere Zicso, X — 17x + k =0 $Hodmo Gng)
Soreree) PorRE ST, @apeh K chog) 2.8 grado

Options :

14

1. &

15

Question Number : 11 Question Id : 64041116491 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

-
The product of all the real roots of the equation |}s:" —:>|K|+6: 0 is

A

2 s - o
|j.;|' _§|}g|+6:{} Hob88eso @nY) K direrofod wao

of

Options :
235

1. & <



Question Number : 12 Question Id : 64041116492 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If o. p and y are the roots of the equation 5x* — 4x* + 3x — 2 = 0, then
cx3’+ﬁ3+‘-;'3=
o, B o850 ¥ en 5% — 4x? + 3x — 2 = 0 $o8dmo @) Swrerss, Pt
u3+63+}'3=

Options :
17

1.% 2:-1‘

7Y
I

[a—
]
N

3. ¢

%]
i

-
N

Question Number : 13 Question Id : 64041116493 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

After the roots of the equation 6x° + 7x* — 4x — 2 = 0 are diminished by h. if the
transformed equation does not contain X term. theu the product ofall the possible

values of h 1s
6 T2 - —2 =1 Gng) Hirere Hended h éﬁc@w Saes, Brarostsin
=gtalat) uwéfﬁmoeﬁﬁ X & BDAS H%o enio Lownd, e £358%0 o"i}“ h Gw¥) of) dende
880
C.
Options :
L% 1/3

— 23
2. 8



Question Number : 14 Question Id : 64041116494 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of integers greater than 6000 that can be formed by using the
digits 0. 5. 6. 7. 8 and 9 without repetition is

0.5,6, 7, 8 508cn 9 wosedn HXorHEo oo GIEPH0D DB GSKe 6000

Eo& _;Jtéﬂcﬁﬁzﬂq Srorosete) Hoeys

Options :

1.

3

4.

240
®

840
v 1440

1680

#®

Question Number : 15 Question Id : 64041116495 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of distinct quadratic equations ax® + bx + ¢ = 0 with unequal real
roots that can be formed by choosing the coefficients a. b. ¢ (azb=c¢) from
the set {0, 1, 2, 4} 1s

5308 {0,1,2.4) $08 Hesseen a. b, ¢ e (a2 b #c) DoH8SEo el S:@Eﬁﬁﬁ?ﬁ@ﬁ

@Y aPos arreras SOAN D& éﬁrﬁ HapEseeen ax> +bx+c=0eo K:uz:ass:é:

[



Question Number : 16 Question Id : 64041116496 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The number of ways of dividing 15 persons into 3 groups containing 3. 5 and
7 persons so that two particular persons are not included into the 5 persons
group 1s
b B Hhen &X) SHrros V8 ﬁ@%o&%ﬁ 885 B5Eo J5 %o 15 o

v - ” s =
SBei 3, 5 Bk 7 H Sgfen Ko Sireh Hursieore HFRoSHON dore Dogy

Options :
117(11!)

31(71)
1LV

ISCS lii}C3
2. %

3!
90><1—

71

3. %

15{:15 8(:'3

Question Number : 17 Question Id : 64041116497 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

;g A
The coefficient of x!'° in the expansion of | X+——35 ‘ is
L")
PR
= e ovtat B 10 3
X+—=J | G IBed” X dny) Hesto
\ X J

Options :



1674

1892

862

Question Number : 18 Question Id : 64041116498 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

10 10 S
LetS, = ¥ J(_]—l).lOcj ;85 7 J.lOcj and S, = _%J 20
i=1 i=1 =1
10 10 10
5,= = j(i-1).10¢c, . 8,= T j.10¢ &bowS; = Z i 10¢; ext®os.
j=1 ] i=1 J =1
Assertion (A) S3 = 55x e
D0 (A) 1 8y =55x2°
Reason (R) 81 = 90x 2% and Sy =10x L
s¥mo R) 1§ =90x2° $Bc%n §, =10x2°
Options :

Both (A) and (R) are true and R 1s the correct explanation of (A)
| % (A) H06cim (R) Boir Sefgo, dbon (A) ) H66HE D (R)

Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(A) H06cin (R) Botir Sefgo, =20 (A) Gy 5600 DG (R) seeh
2. %

(A) 1s true, but (R) is false

- (A) Bedgo, =00 (R) wiefo



(A) 1s false, but (R) is true

(A) &30, =20 (R) Jego
4. %

Question Number : 19 Question Id : 64041116499 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

;
2x* —3x% +4 pPX+q mx+n 1l
S o r—a+— - .then —=
{X'+l][:~;'+2) X“+1 x°+2 q
4 2
2x  —3x°“+4 pX+q mx+n n
= e o + @ond, — =

[:X3+1)[X3 +3'_]_ x2+1  x%42 q

Options :

ptm-—a
1. ¢
p+m
a
2. %
a
p+m
3. %
ptm+a
4. ®

Question Number : 20 Question Id : 64041116500 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

=l

Iy S 1 * :r b ] __%TE ) a YT
|4005‘L—1 4eos”— -1 | e
|.. 20 )| 20

- L o

I.' 5_ ‘.I I." _,-j —I'-—
' 4c032l—'—1 | | 4c0s” —
| 20 )\ -

1 I4co.~3 —lil =
% ) ]

4

=

Options :
1

1. %



| =

[ ]

4. &

Question Number : 21 Question Id : 64041116501 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If A and B are the values such that (A+ B) and (A —B) are not odd multiples of

and 2tan (A+B) = 3tan (A—B). then smm A cos A=

2| A

=

A 5860 B en, (A+B) sh8cm (A—B)ew p GoE) T Hderen seiowe ﬁoéé&i;;

&%) Densden HB% 2tan (A+B) = 3tan (A —B) ©ond, sin A cos A =
Options :

sin Bcos B
1. ®

S5simBcos B
sin 2B

cos 2B

Question Number : 22 Question Id : 64041116502 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

4k
If cos’80° + cos™40° — cos’20° =k, then EY =
4k
cos’80° + cos?40° — c0s?20° = k wond, 3

Options :



Question Number : 23 Question Id : 64041116503 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of solutions of the equation 4 cos 26 cos 36 =sec 6 in the interval
[0, 27] 1s

[0. 271] wosB0S® 4 cos 26 cos 30 = sec B HEpESHSN @Y Fre Doy

Options :

12
1.

Question Number : 24 Question Id : 64041116504 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

( N & %
taui 2Tan ? ‘+Tau li : ‘ o

5




Options :

1. ®
3
2. ®
1
3.
37
4. %

Question Number : 25 Question Id : 64041116505 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
i 1

Tanh™ ; 3T Coth(3) =

Options :

——

i R
Sech '
1. % \3)
™
C‘osech_l

| —

[
|
|

i

:r,
|
'

C'osh_l

| e

Fy

Si1111_1| % |

Question Number : 26 Question Id : 64041116506 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



b g

In a triangle ABC.1fA=30°and - > = : ;
(V3+1) +2(V2-1) (V3+1) —2(v2-1)
then B =
2.8 (Bgheo ABC &8, A =30° 805w
b C
= - wons, @ipth B =

(V1) 2(f2-1) (1) -2(v2-)
s0°

1. ®

2. ¥

4. %

Question Number : 27 Question Id : 64041116507 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In AABC if the line joining the circumcentre and the incentre is parallel to BC.
then cos B +cos C =
AABC &° 26B Solfo H0bcin o088 SoBdnedh 0 By BC & Sirostorr
&08, ©ipth cos B +cos C=
Options :
1
w2

g |

3. ¢



b |

Question Number : 28 Question Id : 64041116508 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a triangle ABC. ifr, :r,=3:4andr,:r,=2:3. thena:b:c=
2.8 (HghHe:o ABC &5, I IT, =3 1 A8 T, ST, =213 wons, a:bic=

Options :

L)
I
A

Question Number : 29 Question Id : 64041116509 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Let (x,y) e RxRand a=xi+2j-k, b=6i—yj+2k be two vectors. If
‘H xﬁ‘z +‘E.E‘2= f(x)g(¥y), then f(x) + g(¥) — 46 = O represents
(xy) e RxRibohn a=xi+2j—-k, b=6i—yj+2k Both Hhdon esedod.
\ﬁxﬁf +\ﬁ.EF= f(x)2(¥) wond, fix) + 2(¥) —46 =0 ¥edode

Options :
A pair of lines
2.8 HEE3 dﬂn’%o

An ellipse
.8 éjgjéﬁo



A hyperbola
2.8 efdowiocho

3. ®
A circle

iy o8 é@éo

Question Number : 30 Question Id : 64041116510 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Line L, passes through the points i+j and k—1i. Line L, passes through the
point j+ 2k and is parallel to the vector i+ j+k. If xi+yj+zk is the point of
intersection of the lines L, and L,. then (y —x) =

L, 5883 i+j $08c k-1 DothHe HowdPkod. L, 5888 j+2k Dot
roosret £+3+I 5885 HErostorr 80tnod. Xi+ }r]+zE ha L1 Sobcio L1
Do pois Hoohzas, (y—X) =

Options :

1. ®

Question Number : 31 Question Id : 64041116511 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



a. b and ¢ are the position vectors of three non-collinear points on a plane. If

o]

o= [H b E] and r=axb—cxb—axc .then ‘I‘ represents

a, b %8a5n T en a8 oo $VPASren 520 3 HoddHe %536 D& Fen.

a=[a b T|&baw r=axb-cxb-axc wowd,

Options :

Ratio of areas of the triangles formed by o.a.b to 0.b.c

- 0.a.b HHBc» 0.b.c oI .'5:-65;5?:5 |Bdhe: Javerge a8

Ratio of the numerical values of volume of the parallelopiped formed with

o.a.b.c and its height

0.a,b.c 03 DEE SHrosE Heoko @Y HBHBBFEHED HBAH Je @Y

o

2. %

Ratio of lengths of the diagonals of the parallelopiped formed with 0.a_b.c

\ o.a.b.c &3 an;,é JBross Hedo Ging) H¥wre Frdde D8

Length of the perpendicular from origin to the plane

v sorefloths) wol & derdd He sostirto
4,

Question Number : 32 Question Id : 64041116512 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2 2 2 2

1tP= (axi) +(ax]) +(axk)" and Q= (1) +(a.3)" +(a E)’. then

5

P=(axi) +(axj) +(axk)" 60w Q= (@) +(a-]) +(a-K)’ wovd, ety

Options :
1. ® o=



2. ¢
L x B=E0
, x P=4Q

Question Number : 33 Question Id : 64041116513 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

a=i+]j—2k. b=1+2j—3k. c=2i—j+k are three vectors. If T is a vector such

that r'a =0, r.c=3 and FE b| =0. then ‘1“=

a=i+j—2k, b=i+2j—3k, c=2i—j+k o0 Sweth $BFen. ra =0, r.c =3 B

|Tab|=0ewodgmiyr I ol el $6F 60d, ‘1“2

Options :

NG

1. %

Question Number : 34 Question Id : 64041116514 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The mean deviation from the median for the following data is
Bobd SeroaE shggiiso ol b dSedo

x[9]3]7]2]5
16 [2]8 |4

=i

Options :



3.¢¥

100
4% 21

Question Number : 35 Question Id : 64041116515 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A company representative 1s distributing 5 identical samples of a product among
12 houses i a row such that each house gets at most one sample. The probability
that no two consecutive houses get one sample is

2.8 o2 BHBoEBS 2.8 &8 ang) 5 JHErdHE Fotd)n el SE5BS Ko
12 mogH, a.8%5) modls rbjorr a.86 a')é; Deforr Do, o Dot HHD
B0EH a8 Froddih 200U DJogrigd

Options :

99
1. v

5
12

2. %



Question Number : 36 Question Id : 64041116516 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A and B are two independent events of a random experiment and P(A) > P(B).

1 1
If the probability that both A and B occur is s and neither of them occurs is —.

then the probability of the occurance of B 1s

A 59805 B 2.8 oire§ihE (30 Gk Goth Dol néiden sHBan P(A) = P(B).

|
A $508cim B Bodr Dodito &ﬁcﬂ;ﬁ Rogris E s08d5m Botsr Hodhosed) KHogriis
1
3 wond, B a88mg Ke 0Pl
Options :
1
1. % 4
1
%
2.9
1
2
3. %
3
sw S

Question Number : 37 Question Id : 64041116517 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two dice are thrown and the sum of the numbers appeared on the dice 1s noted.
If A 1s the event of getting a prime number as their sum and B 1s the event of

getting a number greater than 8 as their sum. then P(A "B ) =
BotH DB NHBRV, B éﬁj@oﬁ- Rogre Sneed)) Do, ord dueed)) el
B5e Sogyrr SPolKo @36 e A HBchn 8 Kof 2EBS Ineed) Eroiito «Ib

e B obfod, ebpt P(ANB)=



Options :
1

1. ® 4

2. ¥

4. %

Question Number : 38 Question Id : 64041116518 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A family consists of 8 persons. If 4 persons are chosen at random and they are
found to be 2 men and 2 women. then the probability that there are equal
number of men and women in that fanuly 1s

2.8 Senonodt 8 Hodk Dabren e, @ Lénono ok 4 KHbd Dﬂﬁé&ﬁgﬁorﬁ
QoD BHBHPEH 786° Bty Hven, BED HDHIrFen $0B, © HEnoaod® Hihen

20Bcin dndrEen DR ‘éoang@ﬁ SottE Ko Bogrs

Options :
1
1. ® 3
3
2. % |
2
5
3. ®

4. <



Question Number : 39 Question Id : 64041116519 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of trials conducted in a binomial distribution is 6. If the difference
b

between the mean and variance of this variate 1s -? . then the probability of

getting atmost 2 successes 1S
2.8 s DeresiSost ABerod dhame Jogy 6. © Jooed ang) @of Hghin
wh

X7
SoBdin a”i-éej:e’_émy B0 _8 wond, KBRorr 2 HHedeidh srodtelE Ko Dogrisd

Options :

106
1. % 4°
144
3
2. ®
126
3. ® 46
154
40
4. ¢ 4

Question Number : 40 Question Id : 64041116520 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Let X~B(n, p) with mean p and variance oZ. If HZZGE and L+ %= 3, then
P(X=3) =
0¥ B0 |1 Ebcte X B oF 08 X~B(n, p) onsted. N=20" HBHow
n+6%= 3 wond, exipHP(X <3) =

Options :



40

49
1. ®
a0
43
2. %
100
L 101
15
16
4.9

Question Number : 41 Question Id : 64041116521 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If A(cosa.sina). B(sina. —cosa). C(l. 2) are the vertices of a AABC then
the locus of its centroid 1s
AABC 4open A(cosa.sina). B(sina. —cosa). C(L 2) wons «(Sgheo G0k
ol grddn ¥ doth HFo

Options :

x4y 2K -4y 41=0

1. ¢

xX’+y —2x—4y+1=0
2. %

2 Loy / =

X"+y —2x—-4y+3=0
3, %

2(x°+y)-2x—-4y+5=0
L 267+Y) y

Question Number : 42 Question Id : 64041116522 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



If the axes are translated to the orthocentre of the triangle formed by the points
A(7.5). B(—5.-7). C(7.-7). then the coordinates of the incentre of the triangle
in the new system are

A(7. 5). B(-5. -7)., C(7, -7) fotvHesd m.:f;a (Bgbeso ¥ ©080(%0 lntsy
oo S5roSs HB58K TR, SrEd a’juéﬁé‘“ e (B2heaso n¥) @osY Solbo @nE)

U‘\

°3I5°e0
Options :
1. % =60
( 5
E
2. %
" =1 ‘
Slfn” ”+\/_
3. ¢
(-5v2.-7V2)
4, %

Question Number : 43 Question Id : 64041116523 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The angle made by a line L with positive X - axis measured in the positive

s
direction 1s s and the intercept made by L on Y - axis 1s negative. If L is at a

distance of 5 units from the origin. then the perpendicular distance from the

point (1 —\/_)m the line L is

L o3 2.8 %588 85 X - 'F_-'Jgﬂt‘?- B5HES BDISH TP 5, Sy &%a0 E s0Bd5w
Y - of02 L 39 woddpoio BoeriBo. Sredothsl) ol b dhrdéy &rSos® L

&08, 5P [1 — ] Dothsd Hood J8¥0w L % Ko eoairdo

Options :



1.

2.%1
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. : | ,
L, and L, are two lines having slopes 2 and 5 respectively. Ifboth L, and L,

are concurrent with the lines x — v+ 2 =0 and 2x + v + 3 = 0. then sum of the
absolute values of the intercepts made by the lines L and L, on the coordinate
axes is

P ¢ 2oy - £ #
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TheLinesL :y—x=0andL,:2x +y=0intersect thelineL,: y+2=0atP
and Q respectively. The bisector of the angle between L, and L, divides the
line segment PQ internally at R.

L :y—-x=08cwL,:2x+y=0 568 0pen L: y+2 = 0 B dHdm™ P
s08cin Qo cﬁc‘éi podfod. L, 58d» L, & &g e o B0 SEavalelaty O,
PQ Bgr goti)y R ég wostorr g0,

Statement-I : PR:RQ~= 2\5 : \E

©5350-1 . PR:RQ=22:.5

Statement-II  : In any triangle. bisector of an angle divides that triangle
into two similar triangles.
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QR8P |Bgherenrr DFEN06. &IPS
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Statement-I 1s false. Statement-II 1s true

_ (23550-1 @0, (HHSKo-11 Hgo
Statement-1 1s true, Statement-11I is true. Statement-I1 is a correct explanation
for Statement-I
[B3SHo-1 Jeggo, (HDSHo-11 J&go 5obain (HDHIK0-I ang) SBGHS DHBes
(55 550-11

3. %
Statement-I 1s true. Statement-II 1s true. Statement-II 1s not a correct
explanation for Statement-I
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If 2x? + 3xy — 2y? — 5x + 2fy — 3 = 0 represents a pair of straight lines. then one
of the possible values of fis
2x2 + 3xy — 2y? — 5x + 2fy — 3 = 0 2.8 H8E0ge choreyfly Srd%, T & :%J“Eﬁéﬁ(%)é
Dended a8 Dend
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A circle passing through origin cuts the coordinate axes 1s A and B. If the
straight line AB passes through a fixed point (xy.yy). then the locus of the
centre of the circle is
Sore Dot thowe 86h a8 HFo ErHsgren Abdn Be 58§ pobdfod. AB
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It (o, B) is the external centre of similitude of the circles x* + v¢ = 3 and

X2+}f2—2X+4}F+4:0,thEH%:
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The equation of the circle touching the lines |x —2|+|y —3|=41is
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If the chord joming the points (1. 2) and (2. —1) on a circle subtends an angle

T , e ; ny
ot 1 at any 1)01117[ on its circumference then the equatmn of such a circle 1s
2.8 Hy30% Ko (1, 2) 5080w (2, —1) DothHes E0D e o H06 Ko & DoHD
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The equation of the circle which cuts all the three circles
4(x—1) + 4(y-1)2 =1, 4(x+1) + 4(y—-1) =1 and 4(x+1)? + 4(y+1)2 =1
orthogonally is
Ax—12+4y-17 =1, 4x+1P + 4F-1Y =1 &bc 4xK+1 P + 4F+11P =1 I
Hooet et @oa::ﬁu)cééo S Sefo g B Smo
Options :
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15 157
If the normal chord drawn at the point T? ‘ to the parabola }73 = 8%
.6 26 40
subtends an angle 6 at the vertex of the parabola. then sin ?JFLC'S T_EELT:
15 L5 )
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¥ p

1 X S
If a tangent having slope 3 to the ellipse 53 =1 (a>b) is a normal to the
a

circle (x + 1) + (y + 1)? = 1. then a’ lies in the interval
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Let P(a sec 6. b tan 8) and Q (a sec ¢. b tan ¢) where 6+0=— be two points on

o[ A

o

.
1}3_2: 1. If (h.k) 1s the point of intersection of the normals

drawn at P and Q. then k=

.
the hyperbola ——

=}

s
P(a sec 8. b tan 0) $:8a5n Q (a sec ¢. b tan ¢). 9+¢=E, o ©8 JHoededho
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If the angle between the asymptotes of a hyperbola ——=—=11s 2Tan" 11 ?
- il s

and a’ — b? =45. then ab =

2 2
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The point in the xy-plane which is equidistant from the points
A(2.0.3).B(0.3.2)and C(0. 0, 1) has the coordinates

A (2.0, 3).B (0. 3, 2) 08a5m C(0, 0, 1) DothHe Hod &= &rdos® God
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If the direction ratios of two lines L, and L, are given by (1. -2. 2) and
(—2. 3. —6) respectively. then the direction ratios of the line which 1s
perpendicular to the lines L, and L, are
L, 58acim L, ©a Ope BS Hoggen Brre (1,2, 2) 8bcim (-2, 3.-6) aé&e:-&%,
L, &»6aci Ll?ﬁag@é} SO0 S06 08 G0 B8 R0835en
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If the image of the point A(1. 1. 1) with respect to the plane 4x +2y+4z+1=0
1s B(o.B.v). then a+p+y=

4X+2y+4z+1=0 oo &k A(L, 1, 1) DothHsh Bw

) (238ozo B(a.p.y)
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Xx+2sinx+3tanx —tan” X

x—0 _ — =
\/X'+25111K +tanx +3 —\/5111' X—2tanx—x+3
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If a real valued function

'rllog{:1+[x])._ x=0
|
f(x) = -3Si11_1[x]. -1=x<0

Ik([ﬁ{]+|x|] x<-1
1s confinuous at x =—1. then k =

a§'105!(1+[x]]. x>0
|
fix)= 3 Sill_l[X]. -1<x<0

k([x]+|x|]. X <—1
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Iff(x)= e * then f'(2) =
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If f(x) =Sec™| 5,2 _4 ) and g(x) = Tan™ %

. then the derivative of

LY

f(x) with respect to g(x) 1s
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If the tangent to the curve Xy +ax + by =0 at (1.1) makes an angle Tan™ 2 with

_ ab
X-axis. then =
a+b
xy + ax + by = 0 H==08 (1.1) Doths) ale) ADD ?uwt’%é@ X-o808° 3o 8o
ab
Tan™! 2 ewona, =
a+b
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If the displacement S of a particle travelling along a straight line in t seconds
is given by S = 2t + 2t — 2t — 3, then the time taken (in seconds) by the
particle to change its direction 1s

2EHes? 28 H5E0y Sond [B35rBn) a8 Beso s ﬁgﬁ[g’ﬁo%m
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If the function f(x) = x* + bx? + ¢x — 6 satisfies all the conditions of Rolle’s

(2341

theoremin [1. 3] and ' |=0. then bc =
"x ‘J‘E /

[1, 3] & f(x) = x* + bx? + cx — 6 Hshcho &S e rodo GhoE) o) Aohsred
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If P (¢, B) is a point on the curve 9x? + 4y = 144 in the first quadrant and the
minimum area of the triangle formed by the tangent of the curve at P with the
coordinate axis is S. then

Ox? + 4y = 144 HEd0D s 50850 Doth P (a, B) 508din P Dothd 3G o
D8 He r:g:;f%ﬁag DEPHE ofSnos DB ([Beheso BnE) BV FF¢ex50 S ©ond,
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The area of the region (in sq.units) bounded by the curves x> + y* = 16 and
v? = 6X 1S
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If a and b are arbitrary constants, then the differential equation corresponding
to the family of curves y = tan (ax + b) is

a 5H6cin b en SreHnE ?@:Dﬁosnt;on%, y = tan (ax + b) o3 Sice Hénozrds

@Eﬁ}fﬁjﬁé)@é @dEed H8ESs0

Options :
(1+x2)y3—2,y1+y:0
1. %
. (1+¥?)y, —2yy; =0
[1+X2)}F2+2_’}F12=U
3. %
[1+}2]}2—2}'}=;+}:0
4. %

Question Number : 79 Question Id : 64041116559 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The general solution of the differential equation xy(y+2)dy+(y" —=1)dx =0
1s
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The displacement (x) and time (t) graph of a particle moving along a straight line
1s shown 1n the figure. The average velocity of the particle in the time of 10 s 1s

2. J5¥0y DBoad Kddodd &) B0 g ﬂ“@vﬁ[_ﬁoéo (x) $08cim sreo (t) @ [

o . # & Iy
%6060 SrHass. 10 DEHe seood e Zmo 5Ken 3o

X(m)
'y
100 4
80 -
60 1
40 1
20 4
0
Options :
2m s
1. ¢
4m st
2. %
6ms!
3 %
R s
4, %

Question Number : 83 Question Id : 64041116563 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



If the horizontal range of a body projected with a velocity ' 1s 3 times the
maximum height reached by it. then the range of the body 1s

(g - acceleration due to gravity)

W' FK08° H8%0 BH2BS 2.8 55D B8e $Eross %50), @6 WO KB M 3 Béy,
©0NH & HND) ) 750

(g - 0o S:Bes0)

Options :
2u’
3

=

-

4u
S¢

Question Number : 84 Question Id : 64041116564 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the velocity at the maximum height of a projectile projected at an angle of 45°
is 20 m s7!, then the maximum height reached by the projectile is

(Acceleration due to gravity = 10 m s7)
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A body of mass 'm' moving along a straight line collides with a stationary body of
mass "2m'. After collision if the two bodies move together with the same velocity.
then the fraction of kinetic energy lost in the process 1s

pStetTelnd HE Keoos® ey 'm' (B3850°8 Ko a8 85, 08 o 28E° &) 2m' (B0 Ko
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If a body of mass 2 kg moving with initial velocity of 4 m s~ is subjected to a
force of 3 N for a time of 2 s normal to the direction of its initial velocity. then the
resultant velocity of the body 1s

kg 855008 o 2.8 SR ol &9 S8 oo HES

2 s sewo artn 3 Naord) (Harfods, o 855 cdns) H08 % 330

4m s &0 3K I0% 2
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If a constant force of (2i = 33 i 4]_:;) N acting on a body of mass 5 kg displaces it

from (3i —41;) m to {2{ + 23+ 31:;)111._ then the work done by the force on the
body is

5 kg (855078 Ko a8 £33 50 S e.8 28 @0 (2i +31+4k) N & 550558
Bi—4k)m 08 (2i+2j+3k)m % FHFoso ToBodS, © awo HoX SWHP
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A motor can pump 7560 kg of water per hour from a well of depth 100 m. If the
efficiency of the pump is 70%. then power of the pump is
(Acceleration due to gravity = 10 m s72)

2.8 FrerE Ho) 100 m S8 Ko 2.8 ard Hoob Kot 7560 kg HBD §%kKetn. HoH
BES 70% wond, & Hod Vs e
(%ek S0 = 10 m s™)

Options :
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A circular disc of diameter 0.8 m and mass 4 Kg 1s rolling on a smooth horizontal
plane. If 2.56 N m torque 1s acting on the disc. then its angular acceleration is

158 4 ke 596350 oo 0.8 m Ko 28 Harsed 28 a8 ol B8z Hdrosy
N ol = LH.-' B —= = T e
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A solid sphere and a solid cylinder have same mass and same radius. The ratio of
the moment of inertia of the solid sphere about its diameter and the moment of
mertia of the solid cylinder about its axis 1s

a8 0% %o Bt a8 Do B an_.D 28 (Gsigoed shbasn 2,8 .:.Jacﬁ*ﬂt’cu DA damomn.
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A particle 1s executing simple harmonic motion with amplitude A. The ratio of

A

the kinetic energies of the particle when 1t 1s at displacements of z and 5 from

the mean position is

2.8 Beo A Bodd 28
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Options :
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If the potential energy of a particle of mass 0.1 kg moving along x-axis 1s

5x(x —4) 7. then the speed of the particle 1s maximum at a position of

X-o80 6% Stak 5058, 0.1 kg (85355028 Ko a8 Ewo % e: 48 5x(x—4) 7T wond, e Ewo

& KD 7k

Options :
| v X= 2 m
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The potential energy of a satellite of mass “m’ revolving around the earth at a
height of R_from the surface of the earth is

(R, - radius of earth: g - acceleration due to gravity)

~

‘m’ (5e3goe8 BOA, & 6238800 Dok R e & 2= Soéar B[Ry 2.8 daieo

ang) nde 48
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Options :
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The elastic potential energy stored in a copper rod of length one metre and area
of cross-section 1mm*when stretched by 1 mm is

(Young’s modulus of copper =1.2x10" Nm™)

§PE 1m 060 g BFee 1 mm? Ko &8 ooh 860, Imm FrbdS o 5668
Dex S0t VBPHE 1Be: ¥4
o [ @ =y

(ooh c5H0f Mo =1.2x10" Nm™)
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When the temperature increases. the viscosity of

SEES BOASIRD, S

Options :

gases decreases but liquids increases

secina)ed® a“éﬁ‘géﬂjo& 528 [Bared® 2%HiHéhod

gases increases but liquids decreases

-
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both gases and liquids increases

Srainden HHbcn (Bsren Bolod& HiHeod

both gases and liquids decreases
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If a body cools from a temperature of 62 °C to 50 °C in 10 minutes and to 42 °C
in the next 10 minutes. then the temperature of the surroundings 1s

28 553 62 °C 6sf1i8 Sod 50 °C & 10 Qdmared®, HHbon 42 °C H Soxs
10 Dnapes® Sopés, Hokore SEL(S

Options :
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If the ratio of universal gas constant and specific heat capacity at constant volume
of a gas 1s given by 0.67. then the gas 1s

el BE arain %ET*’DE‘J?:JQ a8 D% ?@36 HBDBTs0 BY G aﬁ-%é\g;@ ﬁf&éﬂ;%%
e 8 0.67 Lond, & Ak

Options :
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a mixture of diatomic and polyatomic gases
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The internal energy of 4 moles of a monoatomic gas at a temperature of 77 °C 1s
(R - Universal gas constant)
77 °C 6558 58 e 4 Irde I8H55rmE sraing dng) @osbE 8§
(R-5r8y 88 acin %D‘JOéO)

Options :
| % 1500R

1800R

2. %
5« 2100R
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If 5.6 litres of a monoatomic gas at STP 1s adiabatically compressed to 0.7 litres.
then the work done on the gas is nearly

(R - Universal gas constant)

STP & 5.6 Derls DESESTeE e %af;.;éom 0.7 Hergd Hodddo BobHods,
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If the rms speed of the molecules of a diatomic gas at a temperature of 322 K 1s
2000 m s, then the gas 1s

(Universal gas constant = 8.31 J mol™! K™)

322 K & Ef.‘)ﬂ.t_é 2.8 Oedsdrens srcingd ey rms H5& 2000 m sl wond =

(FEY@E arafn Joro¥o = 8.31 J mol™ K™)

Options :
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The equation of a transverse wave propagating along a stretched string of length
80cmis y=1.5simn {{ 5x107 K) +20 t} .here 'x' and 'v' are in cm and the time 't' 1s
in second. If the mass of the string 1s 3 g. then the tension in the string is

80 cm RED DAY a8 rHbchadd 85 Jowlb [HErdoddy) a¥ 858 Storo
Go¥), HEn88mo y=1.5 siu{(ﬁx 107x )+ Eﬂt}. =5 X' Hba 'y cm &° Hbain
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When an object is placed infront of a convex mirror at a distance ‘v’ from the
pole of the mirror such that the size of the image 1s ‘n’ times that of the object.
then the object distance ‘u’” =

2.8 Hid a8 Hogrsel B0 Iththire B8es Eﬁééo H08 ‘U Srdodt SODRVIPED

o0 ($8Doo HBEPEo HHY) H65FBo Bofl ‘N’ By @ond, D) Srdo ‘U’ =
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A narrow slit of width 2 mm i1s illuminated with a monochromatic light of
wavelength 500 nm. If the distance between the slit and the screen 1s 1m. then
first minima are separated by a distance of
SB0K3Y go 500 nm Ko OE5Y s,088° 2 mm e Ko a8 S0 08 [HsedBoso

Dohabhs. HDYE, 38 gl drdo 1m @ond, Sndé '#Lctgs oty trdo
Options :
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0.5 mm
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The force between two conducting spheres of same radius having charges +8 uC

and —4 nC separated by some distance m air 1s F. If the spheres are connected by

a conducting wire and after some time the wire is removed. then the magnitude
of the force between the two conducting spheres 1s

DS §08 t5808" Shdchadsd +8 HC H8ain —4 PC esdven Ko Botd a8 a;ﬂgrﬂ“vgo
Ko 58 Fgre oty oo F. e Reeeidn e srsed HKE° 09 Fodsreo ard HKH
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In space the electric potential varies as V =20 |I| volt, where T =xi+yj+zk 1s

the position vector. Then electric field in (N C) at the point (4 m. 3 m. —5 m) is

wodortos® NS BrEYeHS V =20|t| volt Beto Srthehod, a8 T = xi+ yj+ zk
o BB, mona (4 m. 3 m. —5 m) HothH BY DegS Ego (N C1e&b)
Options :
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3. %
4i +3j-5k
4. %

Question Number : 106 Question Id : 64041116586 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A capacitor of capacitance 2 puF 1s charged with the help of a 60 V battery. After
disconnecting the battery. if this capacitor is connected in parallel with another
uncharged capacitor of capacitance ] F. then the potential difference across the

plates of 2 uF capacitor is

A

3580080 eddo Dahabidd. &°ge 6D

o

2 uF Serbdl) Ko a8 Sarbéd 60V argbd
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The readings of the voltmeter and ammeter in the circuit shown in the diagram
are respectively

He06 $rhd Sechod’ S r;'*_ &6 06c%n =dneb o Blorben JHDI
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When two identical batteries of internal resistance 1 Q) each are connected in

series across a resistor R, the rate of heat produced in R is P,. When the same
batteries are connected in parallel across R. the rate of heat produced is P..
If P, = 2.25P,. then the value of R is

.r:p:

2,888 10 2088 &%0 e Both NB0MRN argéibe % (Bed Dogrdos® R D8°x08
EDa0 P, 26%80 R &P 15% &8 Bén P o3 aedes HEross HSogesost R
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The magnetic field at the centre of a long solenoid having 400 turns per unit
length and carrying a current 'i'is 6.24 = 107 T. The magnetic field at the centre
of another long solenoid having 200 turns per unit length and carrying a current

b s
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If a proton of kinetic energy 8.35 MeV enters a uniform magnetic field of 10 T at
right angles fo the direction of the field. then the force acting on the proton is

(Mass of proton =1.67x107 kg and charge of proton =1.6x107C)
8.35 MeV K8z #8 e o8 [@%»s 10T DE6S @dﬁj#&@é E@Eﬁﬂ@ﬁ?&% é{g‘_ﬁ HE%
©onor (HRB80D8, @ [BirSn Kjﬁjé{ﬁmaﬂ%& 260
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A sample of a ferromagnetic iron in the shape of a cube of side 1.0 um contains

8.7x10%® atoms per cubic metre and the magnetic dipole moment of each iron
atom1is 9.3x107>* Am?. Then the maximum possible magnetic dipole moment
(in A m?) of the sample is nearly

1.0 pm gHeso K Fodo o & &) a8 258 ©chaod 8o éaiﬁiie?’s 0% b
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When current in a coil changes from 2 A to 5 A in a time of 0.3 s, if the emf
induced in the coil 1s 40 mV. then the self inductance of the coil 1s

.8 B 1\5_;165 D& (Hamieo 0.3 s o008’ 2 A o8 5 A H Se88hp 8K Hest

(@68 emf 40 mV. wond e 8Ky dgcho (@880
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In a series LCR circuit. the voltages across the capacitor. resistor and inductor
are in the ratio 2 : 3 : 6. If the voltage of the ac source i the circuit 1s 240 V. then

the voltage across the inductor 1s
a8 38 LCR Sechos® 856D6:5, 28%580 Sbam (@88oe i éjﬂﬁ?\)mdﬁjﬁr: 058
2:3:6. Hochost ac 2580 uﬁafﬁ 240V, oond (@880 é‘f%ﬂ

Options :
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288V
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Question Number : 114 Question Id : 64041116594 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a 10 W bulb emuts electromagnetic waves uniformly in all directions. then the
intensity of light at a distance 0.5 m from the source 1s nearly

a8 10 W aey Digd echadod dborroid of) BEedd HEbEMT Sladaley; 508,

2oy &oé 0.5 m Srdo 5 so0d BHS Lodrre

Options :

3.18Wm3
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The ratio of de Broglie wavelengths associated with thermal neutrons at

temperatures 127 °C and 352 °C is

127 °C $%Bacsn 352 °C asfrise 38, {%E;;Oﬁ Srgléroe & (erdo $8orgo so M@

Options :
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The ratio of the time periods of the revolution of the electrons in the second and
third excited states of hydrogen atom is
PE%eS D85S BoKd Hbon HrEd 6828 Foned®d Jelgrde DHB(ges
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T

Options
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If the surface areas of two nucleu are in the ratio 9 : 49. then the ratio of their
mass numbers is

— =< - L Y : ™
Coth Bolfisre &ibde Jgavee VS 9 1 49 wond, 78 (Bired Sogge VS
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In the given options. the diode that 1s forward biased 1s

25088 dosEed EDrE é_‘;ﬁcv‘éééoé: Svtletnitala)

Options :

+2V +3V
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In a common emitter transistor amplifier the resistance of collector 1s 3 kQ. If

the current amplification factor 1s 100 and the base resistance 1s 2 kQ. then the
power gain of the transistor 1s

a8 &3 &rrds @aﬂga’ioxﬁ &) ;@32,535 égéo @ng) nESH 28%0 3kQ. o
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The layer of the atmosphere that reflects low frequency (LF) electromagnetic
waves during day time only 1s

S8 Tediigo (LF) Mo ihgticharos sborrei Hifen $50Hos® ZrBadh Horddko
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a. b, c. d are electromagnetic radiations. Frequencies of a. b are 3 «10'° Hz,
2%10M Hz. respectively, whereas wavelength of ¢, d are 400 nm, 750 nm.
respectively. The increasing order of their energies is
a. b, ¢, d en DiigichIrosd H8Seren. a. b o Tzl HSHHne 3x10!° Hz.
2x10™* Hz = ¢. d o $50638 o $55e 400 nm, 750 nm. a8 e 261
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The number of electrons with magnetic quantum number, m; = 0 in the elements
with atomic numbers Z = 24 and Z = 29 are respectively
S8 Doggen Z = 24 $H8cin Z = 29 Ke Sirerseed? wahamod swoto Hogy,
m,=0& a5 QRSP NOogR VIR

) ol - las! 2
Options :
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Which of the following orders is not correct for the given property ?
Bod Eirod® H8 adwas s HBEIB =2 ?

My
)

Options :

Li < Na < K - metallic radius
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Br < F = C] - electron gain enthalpy

ﬂ@@ﬁ [y vrVelay2)

2. %
C < N < Q - first ionization enthalpy
06 o@NIFAS dogrdh
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Mg=" < Na® < F~ - ionic radius
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Match the following
BoB B 855508

List-I (Molecule) List-II (Dipole moment in D)
-l (wmnd) efoe-II (8neod (reo¥o D &)
A) HC¢ I) 1.85

B) NH; II) 1.07

C) H,O III) 0.23

D) NF; V) 1.47

The correct answer 1s
308 Bdregprdo

Options :
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Which of the following sets are correctly matched ?

Bo8 o Hoen Jbme asKEERD ?
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The correct equation for one mole of a real gas 1s (a. b are constants)

2.8 FS Dazarcinddh HBGE BEHEses®sn (a. b e goroseen)

Options :
| a
p+— |(V-b)=RT
1l \‘r-



( a )

| p—— [(V-b)=RT

' W=
2. %

o 2 |(v+b)=rT

p+ T+b)=

Al )
3. %

{ a |

;lp+(—_ (V-b)=RT
ax s

Question Number : 127 Question Id : 64041116607 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A and B are ideal gases. At T(K).2 L of 'A"' with a pressure of 1 bar 1s nuxed
with 4 L of 'B' with a pressure pg bar in a 100 L flask. The pressure exerted by
gaseous mixture is 0.1 bar. What is the value of p; in bar ?

A $98ain B en &858 srciniyen. T(K) 5g 1 bar 5550 Ko 2 L'A' D, 5o Py bar
%o 4 Le 'B' & a8 100 L ar&$6? 80505, secsn DEHdn 8DR0D 5Hdsn 0.1 bar.
Py dend bar ©&° dos ?
Options :

v 2

0.04

Question Number : 128 Question Id : 64041116608 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The mass of a mixture containing NaCJ and NaBr 1s 4.0 g. If Na i1s 30% of the
total mixture. the composition of NaC/ in the mixture is
NaC/ 8% NaBr &&) o 8555028 4.0 g. Snko DFSos® Na 30% 5:-,&;35'5,
SoFE00s® NaC] Hosuésdo
(Na=23u. ¢ =355u.Br=80u)
Options :
48%

1. ®

Question Number : 129 Question Id : 64041116609 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of extensive and intensive properties in the list given below is
respectively

density. enthalpy. mass. temperature. volume. pressure

lelaR=talclaty 'ﬁ?i‘-@%@ﬁé}n& DFE BasH KN iﬁoﬂg&; Hogy BBl

Jeo|5e, @c:ntg;ﬂé;f (5355078, L, FodHdsreso, 5ehdm

Options :

w42

Question Number : 130 Question Id : 64041116610 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



One mole of ethanol (/) was completely burnt in oxygen to form CO,(g) and
H,O(/). What is the 5,.1—16J (i kJ 11101_1] for this reaction ?

(The standard enthalpy of formation ( ﬂ-fHe ) of C,H;OH(/). CO,(g) and H,O(J)
1s respectively —277. —393 and —286 kJ mol ™)

2.8 IS adSS (1) D =8eS8° e HioloSr CO,(g) 58c0 H,0(/) en a8 ceom.
% $5% A HS (kI mol™! o) o ?

(C,H;OH(/). CO,(g) £08cin H,O() © [5H&res HoBses @oq;'a@;it;o ( eﬁfHe ) Sodre

—277,-393 $:865m —286 kImol™) (g == /= %)
Options :
+1921
1. ®
~1921
2. &
+1367
3. %
L o 1367

Question Number : 131 Question Id : 64041116611 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

For the following given equilibrium reaction K_C is equal to 1076 at T(K). What
P

1s the value of T (in K) ? (R =0.082 L-atm K~ mol™)
N,(g)+3H,(g)=——2NH;3(g)

KC - -
T(K) 58 (808 adyd SENE ST ey N 1076 % S57d0. T Dend (K o) 2ok?
(R =0.082 L-atm K moI'Y) (g = )"

N,(g)+3H,(g)——2NH;(g)

Options :

% 500



)« 600

Question Number : 132 Question Id : 64041116612 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The molar solubility of PbI, in 0.2 M Pb(NO ) solution in terms of KSP (solubility
product) is i

K, (@565058 ogo) S8or 02 M Pb(NO,), (o$e08® PbL, Fre-b [motahe

Options :
; W1/2
-!rKsp '
| 02 ]
1. ®
/ 1/4
K ‘
[ 0.4
2. ®
y v1f2
[ Kep ‘
| 68 |
3.9
; W1/3
( Kep |
| 08 )
4. %

Question Number : 133 Question Id : 64041116613 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following property is less for D,O than H,O ?
D, 0% H,0 K08 (Bob & 80 BB ?

Options :



Dielectric constant

Brdting B8¥ hss¥o
1. \Gﬁ? ol ol

Viscosity

L R

Density
0|5

Melting point

(AR ﬂgﬁo
4. ®

Question Number : 134 Question Id : 64041116614 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct statements from the following
Bob B&° KBS g5 FHBoXhEm.

A) Among alkali metal ions. Li™ has highest hydration enthalpy
8 & ooirgs® LiT & K83 3¢EAS dogrl)) éoinod.
B) Boiling point of alkali metals increases from Li to Cs
e FFe emfg:éﬁé?ﬁ ﬁg?ﬁo Li {08 Cs % 2%,
C) Density of K 1s less than that of Na and Rb
K Ging) o8 Na sobain Rb o) S5,
D) Lihas strong tendency to form superoxide
Li % 356 @E\]Eéj E’J[‘_‘:iéé- ﬁlﬁ&ﬁjgo B,

The correct answer is
SISV RSE Ao
Options :

A&B
1. ®



Question Number : 135 Question Id : 64041116615 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The correct order of electronegativity of group 13 elements 1s

(e 13 Sreosre Sieediiyord)ss 585 Eio.

Options :
B>Ga>Al>Ti>In

B>Al>Ti>Ga>In

B>Al>Ga>In>TI]
3. %

B>Tli>In>Ga> Al
4. &

Question Number : 136 Question Id : 64041116616 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct statements

DBF@K amgageid HBosod. (only = So|5ah)

I) CO reduces the oxygen carrving ability of blood
CO 8o g efyess Barer JradTg)y SH006.
II) Producer gas contains CO & N,
Eresg90 g CO & N, e 88 diwoénob.
IIT) C-O bond length in CO, is 115 pm
CO, &% C-0 ot B s&w 115 pm

Options :



I & III only

5 @ LII & III

I & IT only
3, %

IT & III only
4. %

Question Number : 137 Question Id : 64041116617 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The incorrect statement from the following is
Sob S 500D LN
Options :
Classical smog 1s also called reducing smog

SoRITrchE Fyhid EohEdes ah ©f) Eree @otrd.

Common components of classical smog are O,. NO, HCHO

XolborahE E‘Pﬁﬁ‘ eSO G086 @ntiseen 03. NO., HCHO

Photochemical smog leads to cracking of rubber and corrosion of metals

5208 Barcahd yf S’ Aten DBEErD8 B e §05r08 wr8K508.

Photochemical smog occurs in warm, dry and sunny climate
5208 BaRah a/h 350, §rd Hdah JE %eﬁ;f;?g%éﬁ D eHE0B.

Question Number : 138 Question Id : 64041116618 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



IUPAC names of the given compounds (I) and (IT) are respectively
=TVAlAR ﬁf}}égﬁﬁlj (I) 0805 (II) & TUPAC 3% $&&me

/__’_,. S

o
= NO,

@) (II)
Options :

5-Phenyl-3-nitrobutane; 2-ethyl-2-methyl-1-propvlcyclohexane
5-536-3-3 eﬁﬁaauéﬁ 2-335-2-038-1-EF nSpE 32 -:.TPS‘*,

1. %
2-Nitro-1-phenylbutane: 2-ethyl-2-methyl-1-propyleyclohexane

- 2-3855- 1535 B0 2-885-2-036- 145 28 pE 288
2-Nitro-1-phenylbutane: 1-ethyl-1-methyl-2-propylcyclohexane

. 2-3(855-1-535a5 85 1-336-1-035-2-8F 2 pE ere)S

3. o =
3-Nitro-5-phenylbutane: 1-ethyl-1-methyl-2-propvlcyclohexane
3-3155-5-235a8S: 1-836-1-03S5-2-8F 8 pE ey

4. %

Question Number : 139 Question Id : 64041116619 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the most stable carbocation from the following
Bod 8BS o Al r:utﬁ 398 '506”* seédirai HBohim.

Options :



CH;

le

1,
s

Question Number : 140 Question Id : 64041116620 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A metal crystallizes in simple cubic lattice. The volume of one unit cell 1s

6.4x10" puﬁ, What 1s the radius of the metal atom in pm ?
2.8 S0 rordes 08 eredodd E’Jﬂjé‘fﬁéé{ﬁe@o 306, a8 SO S NbETB0
6.4x107 pm>. &% S5m0 g Fgs5m pm o° Qo ?

Options :

| 100

, » 200

Question Number : 141 Question Id : 64041116621 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the approximate molality of 10% (w/w) aqueous glucose solution ?
(Molar mass of glucose = 180 g 11101_1)
10% (w/w) f‘{ggﬁﬁc 25e) (Tradesad Srerdd HSrtie dod?

(Krp8E Frerd (5508 = 180 g mol ™)

Lr



Options :

031m
1. ®

0.62m
2. %

0.93m

1.24m

Question Number : 142 Question Id : 64041116622 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The van't Hoff factor for 0.5 m aqueous CH,FCOOH solution 1s 1.075. What 1s
the experimentally observed AT; (in K) for this solution ?

(K;=1.86 K kg mol ™)

0.5m CHQFCDOH 220 [CRdeeny a0t Moo 1.075. & esdesindd @ic?ﬁ;vm?ééoﬁ
5680008 ATy (K ©6°) o ?

(K,=1.86 K kg mol™)

Options :

Question Number : 143 Question Id : 64041116623 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the following
|Eob &R edithnain

List-I (symbol of electrical property) List-II (units)

=lwe-1 =fz-11
(DEpS F¥o Twk) $0880) (|Be57emeen)
S A I)S cm
B) G II) m™
5 3 11D S cm? mol™!
D)G" V) S

The correct answer is
SIS RSE L aple
Options :
A-IV, B-III. C-1. D-II

A-III. B-IV. C-1. D-II
2.¢¥
. A-IIL, B-IV, C-IL, D-I

A-II. B-1. C-IV. D-III
4. %

Question Number : 144 Question Id : 64041116624 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The following graph is obtained for a first order reaction (A — P). The activation
energy (E, inkJ mol™!) and heat of reaction ( | AH | in kJ mol™) for this reaction
are respectively

(x = reaction coordinate: v = E in kJ mol™1)

a8 (B35 (Bdro8 S8 (A — P) £ (Bod (e ofodod. S S5555 an2s 28 (E, kJ
mol ! &&%) HBcHn $BxEn (| AH | in kI mol ' o&®) Ssm

(x =38 @go; y=E inkJ mol™})

Question Number : 145 Question Id : 64041116625 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the following

Bob @R esedtithinsn

List-I (sol) List-II (Method of preparation)
hae-1 () oI ($56 850)

A) As,S, I) Bredig's arc method
BER 05 5B

B) Au ITI) Oxidation
e_eéc:,éfﬁsao

c)Ss IIT) Hydrolysis

220D BAE0

D) Il-":a{OH)3 IV) Double decomposition

Srotse SarNo
aJt oJ

The correct answer 1s
stalen s ibstaviiaiiatayy)
Options :

A-III. B-II. C-IV. D-1
1. ®

o A-LB-IIL C-IV, D-II

A-IV. B-1. C-II. D-III
3.¢

A-IV, B-1II. C-I. D-II

4. %

Question Number : 146 Question Id : 64041116626 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following enzymatic reaction is not correctly matched with enzyme
shown against it in brackets ?

Bod oEH écﬁé&éﬁ 00 o0 B [@sdfedd SEdodad
2 T0HnsB?

ch

i

aozBS5:&° ‘é&ﬁg

Options :



Proteins —> Peptides (Pepsin)

[0S en —> 2nben (o))
& [y
1. #®

Starch —— Maltose (Zymase)

36— &S (@)

(i)

2.¥

Sucrose — Glucose and fiuctose (Invertase)

5(E%E —> KpB'E Hboin (HEE (=50E)

[%]

Maltose — Glucose (Maltase)

Srd’E —— KpBE (S5rad)
4, ® N .

Question Number : 147 Question Id : 64041116627 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following methods 1s useful for producing semiconductor grade
metals of high purity ?

wBE RS Ho &vgaﬂ"éﬂé@zﬁ- 5% Eroliee D8 SN@TENNE 558 b ?
Options :
Liquation

. ) BE)Bee0
1.

Vapour phase refining

aedy e Si5do

) % al) |afsiel A,
Electrolytic refining

Degs SHsdo
3. %



Zone refining

Soode S50
4.

Question Number : 148 Question Id : 64041116628 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Observe the following
Bod 89 H564D0%0s (Products = (8cdirezaegen)

P4 +SOC/; —— Products

P, +S0O,Cl; —— Products

In both the reactions. a common product 'x' is obtained. The number of lone pair
of elecrons on the central atom of x 1s

ot SEEL, 2.8 Ay Bofredo X' oo, X Gk Sols BsrmD i doth
2,068 =8 -::::Iﬁj-lgfgg Ko

B
e

e

Options :

1.¢¥ !

zero (oam)
4. % =

Question Number : 149 Question Id : 64041116629 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The TUPAC name of the complex shown below 1s
K;[Co(ox),]

(Bots Jrod Dogho any) IUPAC a=ho
K;[Co(ox),]

Options :



Tripotassium trioxalatocobaltate (III)

E

'_":- ol B 5mg _SAQE 'E.-.w-.:,ﬁ":_
. %{ﬂ“ﬁ, a10500 @uﬁaw B g (III)
1.

Potassium trioxalatecobaltate (III)

gréaiaio @@ﬁérﬁ%{'w@éﬁ (III)
2. % -

Potassium trioxalatecobalt (III)

srerhicho Besrfoessersd (1)
3. % -7 N

Potassium trioxalatocobaltate (III)

Eremacio @Jf_‘}ﬁééﬁﬂg'm“éég (I1I)
4 X 2

Question Number : 150 Question Id : 64041116630 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the 1on (hydrated in solution) which 1s not correctly matched with its
spin only magnetic moment (in BM) given in brackets

2 ©0rS (edeos® rEBE) (@98e5s° B® o0 W0 oerdd ©chaed (grindo
(BM o&?) &° DO a8 BcHasBE” KBoHHM
Options :

Cr’* (4.90)
1. ¢

2+ -
. Ea - {ETS)

2.

3 Co>* (4.90)
2+

, « F&¥7(4.90)

Question Number : 151 Question Id : 64041116631 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which one of the statements. regarding X 1s not correct ?

3-Hydroxybutanoic acid + 3-Hydroxypentanoic acid —— X
X % Ho200H09 Bod 78BS O gg) 056 ?

3-@‘{;?5;,&&&:-?03&5 sspo + S-Eﬁ{g?éh\lgj{]

Options :
It 1s a condensation polymer
238 2.8 Hoyndd Db,

1. ®
It 1s non biodegradable
- 36 d5gorgdo soh.
It 1s used in orthopaedic devices
A sBT0EE HETE SHTPAT.
3. %
It 1s known as PHBV
699 PHBV wo0émss.
4. ®

&SPomE wiho —— X

Question Number : 152 Question Id : 64041116632 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the essential amino acids from the following

Bob o7& H0D sdEE DS wlroid Hodos.

A) Leucine B) Tyrosine

eSS [alaxars]

Options :

A & B only
1. ®

B & C only

B & D only
3, %

(only = &m(e55Dh)

C) Cysteine D) Histidine
s PRl
%] [+



A & D only
4. <

Question Number : 153 Question Id : 64041116633 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following represents nucleoside of RNA ?

BoB &E° 08 RNA Gwng) &rgddr pbid 2rdiod ?

Options :

H

1. ®

0. o T
HO OH
HO
HO , 0 C
HO
3 %
HO o U
HO OH
4.
Question Number : 154 Question Id : 64041116634 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which of the following is not an antibiotic ?
Bob o8& 5O cirodad@r8E s ?
Options :
Chloramphenicol

% BomdSEs

Oflaxacin

LSRR

Penicillin
29005

=l

Novestrol

cbo, e E
FRAES

4. ¢

Question Number : 155 Question Id : 64041116635 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What are the major products X and Y respectively in the following set of reactions?
Bob S5e 508S° S adTmen X 06 Y en d%dme o0 ? (datk = fHgé)

COOH
Br,

—_—=

Fe(dark) )

CH
: Bll

—= Y

Fe(dark)

Options :



Q/COOH CH;

Br Br

COOH
Br
4V Br

Question Number : 156 Question Id : 64041116636 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following will undergo methylation with CH3C/ / anhy. A(C(3?
Bod 8 5D C‘HSC‘f HEJQ@ Af('fq & eTUS Iohwron ?

a) Aniline b) Chlorobenzene «¢) Benzoic acid d) Anisole
2005 8555 B0dS Bo&PonE exo QRS

Options :



4% &C

Question Number : 157 Question Id : 64041116637 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What are X and Y respectively in the following set of reactions ?
Bob 85w HNSE® X 58w Y en $SHdre 2O ?

(1) (CH3C0),0 7n
Y - p — Cresol % X
(i) H" p—&s

Options :
CH, OCOCH;
CH; OCOCH;

H;C

2. ¢

OH OCOCH;



G OCOCH;

HO

Question Number : 158 Question Id : 64041116638 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following
(Bob B e:sdDtHHdn

List-I (Compound) List-11 (pK,)
eh-1 (33So) =dz-11 (pK)
A) p-Nitrophenol (p-3(¢5°%aee) 1) 15.9
B) Phenol (5a0e5) I0)7.1
C) Ethanol (s53%5) IIT) 10.0
D) p-Cresol (p-&=rs) IV) 10.2

V) 8.3

The correct answer 1s
18R S¥rgrdo

Options :

. A-TI. B-V. C-I. D-ITT

A-II. B-IIL. C-I. D-IV
2. ¢

A-V, B-1V, C-II. D-III

3. %

A-IV. B-III. C-1. D-V
4. %

Question Number : 159 Question Id : 64041116639 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The structures of succinic acid (x) and malonic acid (v). respectively, are
BEVE e5io (X) HHBcn HSPIE efo (1) EnE) Joyeren SHBT

Options :

HOOC‘\/\/CODH : /\/C‘OOH

HOOC

P /fJ\\Jf/COOH
HOOC

2. %
HOOC\HV/XRRVHXCOOH. P
HOOC COOH
3. &
//,\K¢/,COOH_
HOOC HODC’ffK\“CODH
4.

Question Number : 160 Question Id : 64041116640 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Benzyl amine can be prepared from which of the following reactions ?
Bob @ S8 oo Ho@S A0S e‘_’qcﬁ?{ﬁ;éoﬁm’tﬁa ?

Options :

CH;NH,
CﬁHjCE e

(i) AeCN
(ii))H, /Ni

CeHsCH,CI

NaOH / Br,
CﬁH :1(: ONH 2 —




4. ¢

C4HsCONH,

(i) LiA(H,,
o

° (i) H,0



